More Exponent Laws with Mixed Bases.  $2x^2 \cdot 3x^3$  Think of it as:  $2 \cdot 3 \cdot x^2 \cdot x^3$ 

$$-3x^{4}.5x^{2} = -15x^{6}$$

$$-2x^{2}y^{3} - 4x^{3}y^{5} = 8x^{5}y^{8}$$

Try: <u>Simplify</u>

(1) - 5x4.4x1

- 20x5

$$(2) - 2x^3y^4 \cdot - 5x^5y^6$$

$$\mathcal{E}_{g} \left( 2 \chi^{3} \right)^{3} = 2^{3} \cdot \left( \chi^{2} \right)^{3}$$

$$(-7(^{3})^{4} = (-1)^{4} \times 1^{2} = \times 1^{2}$$
$$(-7(^{3})^{3} = (-1)^{3} \times 1^{9} = -2$$

$$(-2)^{3}(2)^{3} \cdot (3x^{4})^{2}$$
 $(-2)^{3}(2)^{3} \cdot 3^{2} \cdot (2^{4})^{2}$ 

77 14

$$\frac{8\chi^4}{2\chi^3} = 4\chi$$

$$\frac{6x^7}{4x^3} = \frac{3}{2}x^4 \quad \text{ov} \quad \frac{3x^4}{2}$$

$$\frac{12x^{4} - 6x^{-2} - 6}{10x^{6} - 5} = \frac{6}{5x^{2}}$$

Try: 
$$2x^{2} \cdot 6x^{4} = 12x^{6} = 4$$

$$3^{6}x^{3}y^{2} = 9x^{6}y^{6} = 4$$

$$x^{0} = 1$$

$$(4) \left( \frac{1}{16} x^{2} \right)^{3} \cdot 2 x^{6} b^{4}$$

$$(-b^{3} x^{6} \cdot 2 x^{6} b^{4})^{2}$$

$$(-b^{3}a^{2} \cdot 2a^{6}b^{2})$$
 $(-2a^{6}b^{7})^{2}$ 
 $(-2a^{6}b^{7})^{2}$ 
 $(-2a^{6}b^{7})^{2}$ 

$$\frac{38) \frac{1 u v^{3} \cdot 2 u v^{4}}{(u^{3} v^{2})^{3}} - \frac{2 u^{2} v^{7}}{u^{9} v^{6}} = \frac{2 v}{u^{7}}$$

$$\frac{u^{2} - u^{-7}}{u^{9}} = \frac{1}{u^{7}}$$

$$\frac{v^{4} \cdot u^{4}}{v^{4} \cdot u^{4} \cdot u^{4} \cdot u^{4} \cdot u^{4}}$$

$$\frac{24}{4x^{3}y^{3}} - \frac{1x^{2}}{8x^{4}} - \frac{1}{2}x^{2} \\
= x^{2} \\
\frac{2}{4}x^{3}y^{3} - \frac{1}{2}x^{2} \\
= x^{2} \\
\frac{2}{2}y$$

$$\frac{3u^{2}v^{2}}{4v^{2}u^{3}\cdot 2u^{3}v^{3}} = \frac{3u^{2}v^{2}}{8u^{6}v^{3}} = \frac{3}{8u^{4}v}$$